

Posinormal Operators and Weyl's Theorem

Butbainah A. H. Ahmed, Shaima Shawket Kadhim
University of Baghdad - College of Science - Mathematics Department

Abstract

An operator A on a Hilbert space H is a posinormal operator if there exists an idempotent $P \in B(H)$ such that $AA^* = A^*PA$.

Let $P(A) = \{\lambda \in \mathbb{C} : A - \lambda I \text{ is not posinormal}\}$, A is called totally posinormal if $P(A) \neq \emptyset$. In this paper we study some properties of posinormal operator and the set $P(A)$ and show that Weyl's theorem holds for a totally posinormal operator.

Proposition 1.1

If A and A^* are unitarily equivalent on $B(H)$ then $P(A) = P(A^*)$.

Proof:

Let A and A^* be unitarily equivalent then $A = U^*A^*U$ for a unitary operator U . Now if A^* is posinormal, then A is posinormal [10]. If A is unitarily equivalent to A^* , then $A - \lambda I$ is unitarily equivalent to $(A - \lambda I)^*$ for all $\lambda \in \mathbb{C}$.

$$A - \lambda I = U^*A^*U - \lambda U^*U = U^*(A^* - \lambda I)U$$

it follows that $\lambda \notin P(A^*)$ iff $A - \lambda I$ is a posinormal operator. Thus $P(A) = P(A^*)$. \square

The following theorem describes some properties of the eigenspace of posinormal operators.

Theorem 1.2

Let $A \in B(H)$ where λ and $\mu \notin P(A)$, then

- 1- $N_A(\lambda) \subseteq N_{A^*}(\bar{\lambda})$
- 2- $N_A(\lambda)$ reduces A .
- 3- $N_A(\lambda) \perp N_A(\mu)$ whenever $\lambda \neq \mu$.

Proof:

1- Let $x \in N_A(\lambda)$. Since $\lambda \notin P(A)$, then $(A - \lambda I)$ is posinormal and so $N(A - \lambda I) \subseteq N(A - \lambda I)^*$ [10], hence $x \in N_{A^*}(\bar{\lambda})$.

2- To prove that $N_A(\lambda)$ reduces A , it is enough to show that $(N_A(\lambda))^\perp$ is an invariant

subspace of H under A . Let $x \in (N_A(\lambda))^\perp$, it follows that $\langle x, y \rangle = 0$ for all $y \in N_A(\lambda)$. But $N_A(\lambda) \subseteq N_{A^*}(\bar{\lambda})$ from [1], so $y \in N_{A^*}(\bar{\lambda})$. Now for all $y \in N_{A^*}(\bar{\lambda})$,

$\langle Ax, y \rangle = \langle x, A^*y \rangle = \langle x, \bar{\lambda}y \rangle = \lambda \langle x, y \rangle = 0$. Thus, $Ax \in (N_{A^*}(\bar{\lambda}))^\perp$. Hence $N_A(\lambda)$ reduces A .

3- Let $x \in N_A(\lambda)$ and $y \in N_A(\mu)$, then $y \in N_{A^*}(\bar{\lambda})$. Thus,

$\lambda \langle x, y \rangle = \langle \lambda x, y \rangle = \langle Ax, y \rangle = \langle x, A^*y \rangle = \langle x, \bar{\mu}y \rangle$. Therefore $(\lambda - \mu) \langle x, y \rangle = 0$. But $\lambda \neq \mu$, hence $\langle x, y \rangle = 0$ and $N_A(\lambda) \perp N_A(\mu)$. \square

Theorem 1.3

Let $A \in B(H)$ and $\lambda \notin P(A)$, then $A|_{N_A(\lambda)}$ is normal.

Proof:

Let $x \in N_A(\lambda)$. From part (i) of theorem (1.2) we have

$$A^*Ax = A^*(Ax) = A^*(\lambda x) = \lambda(A^*x) = |\lambda|^2 x$$

On the other hand,

$$AA^*x = A(A^*x) = A(\bar{\lambda}x) = \bar{\lambda}(Ax) = |\lambda|^2 x$$

Therefore $AA^*x = A^*Ax$ for all $x \in N_A(\lambda)$, hence $A|_{N_A(\lambda)}$ is normal. \square

Recall that $\sigma_p(A) = \{\lambda \in \mathbb{C} : Ax = \lambda x\}$

Theorem 1.4

Let $A \in B(H)$ and $\lambda \notin P(A)$, then

$\overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}$ reduces A , and

$A|_{\overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}}$ is normal.

Proof:

We prove first that $\overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}$

reduces A . let $x \in \overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}$, then

$x = \sum_i x_{\lambda_i}$ such that $\sum |x_{\lambda_i}|^2 < \infty$ where $x_{\lambda_i} \in N_A(\lambda_i)$, $i = 1, 2, \dots$

$$\begin{aligned} A(Ax) &= A\left(\sum_i Ax_{\lambda_i}\right) \\ &= A(\lambda_1 x_{\lambda_1} + \lambda_2 x_{\lambda_2} + \lambda_3 x_{\lambda_3} + \dots) \\ &= \lambda_1(Ax_{\lambda_1}) + \lambda_2(Ax_{\lambda_2}) + \lambda_3(Ax_{\lambda_3}) + \dots \end{aligned}$$

it follows that $Ax \in \overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}$ and

$\overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}$ is invariant under A .

Now

$$\begin{aligned} A(A^*x) &= A\left(\sum_i A^*x_{\lambda_i}\right) \\ &= A(A^*x_{\lambda_1} + A^*x_{\lambda_2} + A^*x_{\lambda_3} + \dots) \end{aligned}$$

since $\lambda \notin P(A)$, then $N_A(\lambda) \subseteq N_{A^*}(\lambda)$, so

$$\begin{aligned} A(A^*x) &= A(\tilde{\lambda}_1 x_{\lambda_1} + \tilde{\lambda}_2 x_{\lambda_2} + \dots) \\ &= \tilde{\lambda}_1(A^*x_{\lambda_1}) + \tilde{\lambda}_2(A^*x_{\lambda_2}) + \dots \end{aligned}$$

therefore $\overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}$ is invariant under A^* .

Now to prove $A|_{\overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}}$ is

normal. let $x \in \overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}$, then

$x = \sum_i x_{\lambda_i}$. By part (1) of theorem (1.2) we have

$$\begin{aligned} A^*Ax &= A^*\left(\sum_i Ax_{\lambda_i}\right) \\ &= A^*(Ax_{\lambda_1} + Ax_{\lambda_2} + \dots) \\ &= A^*(\lambda_1 x_{\lambda_1} + \lambda_2 x_{\lambda_2} + \dots) \\ &= \lambda_1 \tilde{\lambda}_1 x_{\lambda_1} + \lambda_2 \tilde{\lambda}_2 x_{\lambda_2} + \dots \\ &= |\lambda_1|^2 x_{\lambda_1} + |\lambda_2|^2 x_{\lambda_2} + \dots \\ &= \sum_i |\lambda_i|^2 x_{\lambda_i} \end{aligned}$$

Using the same argument we can show that

$$AA^*x = \sum_i |\lambda_i|^2 x_{\lambda_i}. \text{ Thus, } AA^*x = A^*Ax$$

for all $x \in \overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}$. Hence,

$A|_{\overline{\sum_{\lambda \in \sigma_p(A)} \oplus N_A(\lambda)}}$ is normal. \square

Recall that a family of closed subspaces of H is said to be total in case the only vector x in H , which is orthogonal to every subspace of H belonging to the family is $x = 0$ [5, p.167].

Theorem 1.5

Let A be a posinormal operator in $B(H)$.

If the eigensubspaces of A form a total family, then A is normal.

Proof:

Let H_0 be the null space of $AA^* - A^*A$, the problem is to show that $H_0 = H$, i.e. $H_0^\perp = \{0\}$. Let $x \in N_A(\lambda)$, since A is posinormal, then $A^*x \in N_{A^*}(\lambda)$.

Therefore,

$$AA^*x = \lambda(A^*x) = A^*(\lambda x) = A^*Ax. \text{ Thus,}$$

$$(AA^* - A^*A)x = 0, \text{ and therefore } x \in H_0$$

and hence $N_A(\lambda) \subseteq H_0$ for all λ .

§ 2 Weyl's Theorem.

We show that Weyl's theorem holds for the class of totally posinormals. We define $\tilde{A} = |A|^{1/2} \cup |A|^{1/2}$, where $A = \cup |A|$ and $A| = (AA^*)^{1/2}$, this definition appeared first in [1].

The following lemma which we needed is appeared in [8].

Lemma 2.1:

If $A > B > 0$ then for each $r \geq 0$

$$(i) \quad (B^{r/2} A^p B^{r/2})^{1/q} \geq (B^{r/2} B^p B^{r/2})^{1/q}$$

and

$$(ii) \quad (A^{r/2} A^p A^{r/2})^{1/q} \geq (A^{r/2} B^p A^{r/2})^{1/q}$$

holds for $p \geq 0$ and $q \geq 1$ with $(1+r)q \geq p+1$.

Theorem 2.2

Let A be posinormal. Then $\tilde{A} = |A|^{1/2} U |A|^{1/2}$ is hyponormal.

Proof:

From the posinormality of A we have $\lambda^2 A^* A > A A^*$ for some $\lambda > 0$ [13] and since the operator inequality

$\lambda^2 U^* A |U| > \lambda^2 |A^*|$ is satisfied [4]. Then

$$\lambda^2 U^* |A| U \geq \lambda^2 |A^*| \geq U^* A |U^*|. \quad \text{Let}$$

$$S = \lambda^2 U^* A |U| U, \quad T = \lambda^2 |A^*|, \quad \text{and}$$

$$V = U |A| U^*$$

Now,

$$\begin{aligned} (A \tilde{A}) &= (|A|^{1/2} U^* |A| U |A|^{1/2}) \\ &= \left(\left(\frac{1}{\lambda^2} T \right)^{1/2} \left(\frac{1}{\lambda^2} S \right)^{1/2} \left(\frac{1}{\lambda^2} T \right)^{1/2} \right) \\ &\geq \left(\left(\frac{1}{\lambda^2} T \right)^{1/2} \left(\frac{1}{\lambda^2} T \right)^{1/2} \left(\frac{1}{\lambda^2} T \right)^{1/2} \right) \quad [\text{Lemma 2.1(ii)}] \\ &= \frac{1}{\lambda^2} T \end{aligned}$$

$$\begin{aligned} (\tilde{A} \tilde{A}^*) &= (|A|^{1/2} U^* A |U| |A|^{1/2}) \\ &= \left(\frac{1}{\lambda^2} T \right)^{1/2} V^{1/2} \left(\frac{1}{\lambda^2} T \right)^{1/2} \\ &\leq \left(\frac{1}{\lambda^2} T \right)^{1/2} \left(\frac{1}{\lambda^2} T \right)^{1/2} \left(\frac{1}{\lambda^2} T \right)^{1/2} \\ &\leq \left(\frac{1}{\lambda^2} T \right) \end{aligned}$$

Thus, $\tilde{A} \tilde{A} \geq \tilde{A} \tilde{A}^*$, it follows that \tilde{A} is hyponormal.

Theorem 2.3

Let A be totally posinormal. If λ is an isolated point of $\sigma(A)$ then $\lambda \in \sigma_p(A)$ where

$\sigma_p(A)$ denotes the point spectrum of A .

Before proving this theorem we need the following lemmas which appeared in [2].

Lemma 2.4

The spectrum of A, \tilde{A} are identical, i.e. $\sigma(A) = \sigma(\tilde{A})$.

Proof of theorem (2.3):

Since $A + \lambda I$ is posinormal for all $\lambda \in \mathbb{C}$, we need only prove the case $\lambda = 0$. Let

$0 \in \sigma(A)$, since $\sigma(A) = \sigma(\tilde{A})$ [Lemma 2.4] then $0 \in \sigma(\tilde{A})$ and 0 is an isolated point of

$\sigma(\tilde{A})$ but \tilde{A} is hyponormal then by [25, theorem 2] it follows that $x_0 \in H$ such that $\tilde{A} x_0 = 0$,

$$|A|^{1/2} U |A|^{1/2} x_0 = 0, \quad \text{we have}$$

$$U |A|^{1/2} x_0 \in N(|A|^{1/2}) \quad \text{but}$$

$N(A) \subset N(\tilde{A}^*)$ [29], it follows that

$$A^* (U |A|^{1/2} x_0) = A |U| U |A|^{1/2} x_0 = |A| |A|^{1/2} x_0 = 0$$

. Hence $|A|^{1/2} x_0 = 0$ therefore we

have $0 \in \sigma_p(A)$. \square

Proposition 2.5

Let A be posinormal with $Ax = \lambda x$,

$Ay = \mu y$, $\lambda \neq \mu$ and each of λ and $\mu \notin P(A)$. Then $\langle x, y \rangle = 0$.

Proof:

Since $\mu \notin P(A)$, then $A^* y = \mu y$ [9],

thus

$$\mu \langle x, y \rangle = \langle x, A^* y \rangle = \langle Ax, y \rangle = \lambda \langle x, y \rangle$$

. Since $\lambda \neq \mu$ then $\langle x, y \rangle = 0$. \square

Now therefore we give our main theorem we need the following lemma

Lemma 2.6 [3, Lemma 3]:

Let $A \in B(H)$, suppose A satisfied the following condition:

(C1): If $\{\lambda_n\}$ is an infinite sequence of distinct points of the set of eigenvalues of finite

multiplicity of A and $\{\alpha_n\}$ is any sequence of the corresponding normalized eigenvalues then the

sequence $\{\alpha_n\}$ does not converge. Thus

$$\sigma(A) \setminus \sigma_{cl}(A) \subset \sigma_w(A).$$

Theorem 2.7

Let A be a totally posinormal operator. Then Weier's theorem holds for A .

Proof:

By proposition (2.4), if A is a totally posinormal operator, then A satisfied Lemma (2.6) and hence $\sigma(A) - \sigma_{\text{co}}(A) \subseteq \sigma_w(A)$.

For the inclusion relation, $\sigma_w(A) \subseteq \sigma(A) - \sigma_{\text{co}}(A)$. Let $\lambda \in \sigma_w(A)$, since $A - \lambda I$ is posinormal, then we have $N(A - \lambda I) \subseteq N(A - \lambda I)^* = \text{Ran}(A - \lambda I)^\perp$, hence we have the following decomposition of $A - \lambda I$:

$$A - \lambda I = \begin{bmatrix} 0 & 0 \\ 0 & S \end{bmatrix} \quad \text{on}$$

$N(A - \lambda I) \oplus \overline{\text{Ran}(A - \lambda I)^*}$, since

$$A = \begin{bmatrix} \lambda & 0 \\ 0 & S + \lambda \end{bmatrix}, \text{ where } S + \lambda \text{ is one-to-one}$$

and is totally posinormal operator on $\overline{\text{Ran}(A - \lambda I)^*}$. If $\lambda \in \sigma(S + \lambda)$, by theorem (2.2), we have $\lambda \in \sigma_p(S + \lambda)$ because λ is an isolated point of $\sigma(S + \lambda)$. This is a contradiction. Hence $\lambda \notin \sigma(S + \lambda)$,

therefore $0 \neq \sigma(S)$.

Let $K = \begin{bmatrix} I & 0 \\ 0 & 0 \end{bmatrix}$, then K is a compact operator

and $A + K - \lambda I = \begin{bmatrix} I & 0 \\ 0 & S \end{bmatrix}$ is an invertible

operator. Therefore $\lambda \notin \sigma_w(A)$. Hence we have $\sigma_w(A) \subseteq \sigma(A) - \sigma_{\text{co}}(A)$ and the proof of the theorem is complete.

Proposition 2.8

Let A be totally posinormal. Then there exists orthogonal reducing subspaces M and N for A such that $H = M \oplus N$, $A|_M$ is normal on M and $\sigma_w(A|_N) = \sigma(A|_N)$.

Before we give the proof, we need to prove the following lemma.

Lemma 2.9

If A is totally posinormal and maps a subspace M into itself, then $A|_M$ is totally posinormal.

Proof:

Since A is totally posinormal, then $A - \lambda I$ is posinormal for all $\lambda \in \mathbb{C}$. Let $A_1 - \lambda I$ be the restriction of $A - \lambda I$ to M for all $\lambda \in \mathbb{C}$. Then for $x, y \in M$

$$\begin{aligned} \langle x, (A - \lambda I)y \rangle &= \langle (A_1 - \lambda I)x, y \rangle \\ &= \langle (A_1 - \lambda I)x, y \rangle \\ &= \langle x, (A - \lambda I)^*y \rangle \quad \text{for all } \lambda \in \mathbb{C} \end{aligned}$$

In particular

$$\begin{aligned} \left| \langle (A_1 - \lambda I)^*x, x \rangle \right|^2 &= \langle (A_1 - \lambda I)^*x, (A_1 - \lambda I)^*x \rangle \\ &= \langle (A_1 - \lambda I)^*x, (A - \lambda I)^*x \rangle \end{aligned}$$

Hence

$$\left| \langle (A_1 - \lambda I)^*x, x \rangle \right|^2 \leq \left| \langle (A_1 - \lambda I)^*x, x \rangle \right| \left\| \langle (A - \lambda I)^*x, x \rangle \right\|$$

it follows that

$$\left| \langle (A_1 - \lambda I)^*x, x \rangle \right| \leq \left| \langle (A - \lambda I)^*x, x \rangle \right| = \left| \langle (A - \lambda I)^*x, x \rangle \right|$$

for all $\lambda \in \mathbb{C}$ and $x \in M$. Thus, $(A_1 - \lambda I)$ is posinormal for all $\lambda \in \mathbb{C}$.

Therefore A_1 is totally posinormal.

Proof of Proposition (2.8):

For $\lambda \in \sigma_p(A)$, let

$M_\lambda = \{x : Ax = \lambda x\}$. Then M_λ is a reducing subspace for A (theorem 1.2). Let

$M = \bigoplus_{\lambda \in \sigma_p(A)} M_\lambda$ and $N = M^\perp$. Then M reduces A and $A|_M$ is normal (theorem 1.3). Let

$S = A|_N$ then S is a totally posinormal operator on N by lemma (2.9). By theorem (2.7), Weyl's theorem holds for S , since $\sigma_{\text{co}}(S) = \emptyset$, it follows that $\sigma_w(S) = \sigma(S)$. \square

References

1. A. Aluthge, On p -hyponormal operators for $0 < p < 1$, Int. Eq. Op. Th. 13 (1990), 307 - 313.
2. A. Aluthge and D. Wang, W -hyponormal operators, Int. Eq. Op. Th. 26 (2000), 1-10.
3. J.V. Baxley, Some general conditions implying Weyl's theorem, Rev. Roum. Math. Pures Appl. 16 (1971), 1163 - 1166.
4. S.K. Berberian, The Weyl spectrum of an operator, Indiana Univ. Math. J. 20 (1970), 529 - 544.
5. S.K. Berberian, Introduction to Hilbert space, second edition, Chelsea publishing company, New York, N. Y., (1976).
6. I.A. Coburn, Weyl's theorem for non-normal operators, Michigan. Math. J. 13 (1966), 285 - 288.
7. B.P. Duggal, The operator inequality $P^{2a} < A^*P^*A$, Michigan Math. J. 49 (2001), 39 - 45.

8. T. Furuta, $A > B \geq 0$ implies $(A^{r/2} A^p A^{r/2})^{1/2} \geq (A^{r/2} B^p A^{r/2})^{1/2}$ for $p \geq 0, q \geq 1, r > 0$ with $(1+r)q \geq (p+r)$ and its application, *Scientific Mathematics: Japanica*, 53(3)(2001), 555-603.

9. S.S. Kadhim, p-normal operators and Weyl's theorem, Ms. C. Thesis, College of science, University of Baghdad (2002).

10. J. H. C. Rahly, p-normal operators, *J. Math. Soc. Japan*, 46 (1994), 587 - 605.

11. J. G. Stampfli, hypernormal operators, *Pacific J. Math.*, 12 (1962), 1454 - 1458.

الخلاصة

يقال للمؤثر A المعروف على الفضاء هيلبرت H بأنه موجب السوية إذا وجد مؤثر P في $B(H)$ بحيث أن $AA^* = A^*PA$. ليكن مجموعة كل القيم $\lambda \in \mathbb{C}$ بحيث أن $A - \lambda I$ ليست موجبة السوية نقول أن A موجب السوية كلياً إذا كان $A - \lambda I$ موجب السوية لكل $\lambda \in \mathbb{C}$. درمنا في هذا البحث بعض خواص المؤثرات موجبة السوية وخواص المجموعة $P(A)$ وبرهنا أنه إذا كان A مؤثر موجب السوية كلياً فإنه يحقق نظرية ويل.